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Activity

Solution 1:

4+ |
3




Solution 2:

2 3

3)

0w

Exercise

Solution 1:
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Solution 2:
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Solution 5:
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Practice -1

Solution 1(1):

To add the fractions, convert them into like fractions.

To convert the fractions into like fractions, find the L.C.M of the denominators.

Then multiply the numerator by the same number,
as done below :
3,5 3x2.5
4 8 4x2 8
{converting to like fractions)
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Solution 1(2):

To add the fractions, convert them into like fractions.

2 4 8
2 -
2 1 2
1 1

L.C.M.of 4 and 8is 8.
Hence, multiply the denominator by the
number so as to get 8 in the denominator.

To convert the fractions into like fractions, find the L.C.M of the denominators.

Then multiply the numerator by the same number,
as done below :
2 8 2RxF ZB%5
e s W et e i
S 7 SX& TxS
(converting to like fractions)
_ 14 15
35 35
14+ 15
- 35
29

39

L.C.M.of 5 and 7 is 35.

Hence, multiply the denominator by the
number so astoget 35 inthe
denominator.




Solution 1(3):

To add the fractions, first convert them into mixed fractions and

then like fractions.
A3 ,2 11 5
i 224- 1§ = Z + §

(converting mixedfractions into improper fractions)

To convert these fractions into like fractions, find the L.C.

of the denominators.
Then multiply the numerator by the same number,
as done below :

3 2
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_11x3 5x4
4x3 3x4
{converting to like fractions)

W
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33+ 20

Solution 1(4):

To add the fractions, first convert them into mixed
and then like fractions.
3 2 11 5

22+1§-7+§
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LCM.of4dand 3is 12.

Hence, multiply the denominator by the
numbersoastoget 12inthe
denominator.

fractions

(converting mixed fractions into improper fractions)
To convert these fractions into like fractions, find the L.C.M of the denominators.

Then multiply the numerator by the same number,
as done below :

3 2

2z+1§
i1 S
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" 11x3+5x4

4x3 3x4

{converting to like fractions)
33 20
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LC.M.of4and 3is 12.

Hence, multiply the denominator by the
number so astoget 12 inthe
denominator.




Solution 1(5):
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Solution 1(6):

3.1 3
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476 12

LC.Mof8and 16is 16.

Hence, multiply the denominator of the first
fraction by the number so as to get 16 in the
denominator.

(LCM. of 4, 6 and 12 is, 12)
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Solution 2:

Let us add lgand 2%
<3 1
Let us add 2Zand 24—1 1__3_+ 2_?_>
3 0 8 4
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Practice — 2

Solution 1(1):

Denominators of both the fractions are different, so convert them
into like fractions and then subtract.

(LCM. of 5 and 10 is 10.)

 16x2 23
"Sx2 10
3R 23
10 10
_32-23
10

ok
10
Solution 1(2):

Denominators of both the fractions are different, so convert them
into like fract ons and then subtract.

(LCM of 1 and 11is 11)
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Solution 1(3):

Denominators of both the fractions are different, so convert them
into like fractons and then subtract.
7 6

2 15
(LCM of 2 and 13 is 26)

__7><13_ 6x2
T 2x13 13x2
_91_ 12

26 26
_91-12
26

1

Solution 1(4):

Denominators of both the fractions are different, so convert them
into like fractions and then subtract.

SIS 5
20 10
_13_43
20 10

(LCM of 20 and 10 is 20)

113 43x2
20 10x2
11386
20 20
_113-86
20
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Solution 1(5):

Denominators of both the fractions are different, so convert them
into like fractions and then subtract,

7-32
5

19
(LCM of 1 and 9 is 9)

_7x9__33
T 1x9 9

Solution 1(6):

Denominators of both the fractions are different, so convert them
into like fractions and then subtract.

-
7§ 22

15_11

2 4
(LCM of 2 and 4 is 4)

_ 15x2_H
2x2 4
30 11
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Calculations: Table | Table |
2,4_2+4_6 )
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Practice — 3

Solution 1:
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Solution 2:
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Practice - 4

Solution 1:
1 18 1 6x3 1
(1)18 6=18X6 1X6=TX—6'=3
6 6 1 2x3 1 2
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5 5 783
B m s
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Practice =5
Solution 1;

To simplify the four basicopertions on fractions, the hierarchy of
DMAS, first carry out all divisions, then multiplication and
after that additions and subtractions.
3.2_ 1§ l_‘c'j
5 6 9
9 15
6 9
9 15
— X —
6 9
S

=17x2+§1§
ox2 = 2%5
~34+25
10
_ 59
10
9
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10
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Solution 2:

To simplify the four basicopertions on fractions, the hierarchy of
DMAS, first carry out all divisions, then multiplication and

after that additons and subtractions.

9 18 7 2

1224246
S 18 7 2

"127 247246

_3.6x3_ 7 2
—_— Xt —

"4 6x4 6x4 6

3 B3I 2
4 4x6x4 6
_3_.2t.2
4 9% 6

_3x24 21 2x 16

"4x24 96 6x16
_72-21+32

96

Solution 3:

To simplify the four basicopertions on fractions, the hierarchy of
DMAS, first carry out all divisions, then multiplication and
after that additions and subtractions.

_ 1029+20 1049 37§

28 28 28
[Note Answer provided by the textbook is for 5% X 3+ 2 1—12]

14 7 28



Solution 4:

To simplify the four basicopertions on fractions, the hierarchy of
DMAS, first carry out all divisions, then multiplication and
after that additions and subtractions.

2 i 2

4_ -9+ 2
3 5 15

4Z-82. 5

3 D 15
14_48 3

"3 5 15

w it 98, 13
3 .5 32
14 }6)(3)( 3x B
3 oS 18 x2

~14x2 9x3
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Solution 5:

To simplify the four basicopertions on fractions, the hierarchy of
DMAS, first carry out all divisions, then multiplication and
after that additions and subtractions.




Solution 6:

To simplify the four basicopertions on fractions, the hierarchy of
DMAS, first carry out all divisions, then multiplication and

after that additions and subtractions.

9 4 13 3

37 6 18 5
2 13 3

3 18 5

BB, 13
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4 5
13x5 3x4
4x5 5x4




